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$'�����%&�� �� -�%��'�&�&�� 
 

��������! 
�5D54 ?D<<5=5=<5< 4??4D4F4 =5>5E>4<<> 

6=<<4F5?L=> <7GG<FL =4EF>OM<5 $G>>6>4EF6> 
?> M>E??G4F4F<< < $5>><5=44F<< ?> ?D<<5=5-
=<N, >>F>DO5 E>45D64F E6545=<O < G>474=<O, 
=5>5E>4<<O5 4?O ?D46<?L=>=, 557>?4E=>= < 
MDD5>F<6=>= M>E??G4F4F<< 4??4D4F4. 
�D< ?>>G?>5 4??4D4F4 FD55G=F5 ?D>65D><: 
÷ D45>F>E?>E>5=>EF<; 
÷ >><??5>F=>EF<; 
÷ =4?<G<O LF4<?4 ?D>446F4 < 44FO ?D>44-

6< 6 E6<45F5?LEF65 > ?D<5<>5 < F4?>=5 =4 
74D4=F<==O= D5<>=F. 

��-�� %������/ 

�??4D4F 6<5D>4>GEF<G5E>>7> 6>745=EF6<O E 
F<DD>6>= <=4<>4F<5= < F4=<5D>< «��&�$��-&» 
(44?55 ?> F5>EFG 3 4??4D4F <?< 4??4D4F «��&�-
$��-&») O6?O5FEO <54<F<=E><< <745?<5<. �??4-
D4F 6O?>?=5= 6 E>>F65FEF6<< E FD55>64=<O<< 
��%& $ 50444-92 < E5DF<D<F<D>64= 
6 GEF4=>6?5==>< ?>DO4>5. 
�> 557>?4E=>EF< 4??4D4F E>>F65FEF6G5F FD55>-

64=<O< ��%& $ 50267.0-92 4?O <745?<= >?4EE4 II 
F<?4 BF E >>D?GE>< 557 74M<FO >F ?D>=<>=>65=<O 
6>4O. � 746<E<<>EF< >F EF5?5=< ?>F5=F<4?L=>7> 
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D<E>4 ?D<<5=5=<O 4??4D4F >F=>E<FEO > >?4EEG 24 
?> ��%& $ 51609-2000, ?> 6>7<>6=O< ?>E?54EF-
6<O< >F>474 6 ?D>F5EE5 M>E??G4F4F<< 3 > >?4EEG �, 
?> 6>E?D<=<<45<O< <5E4=<G5E><< 6>745=EF6<O< 
3 > 7DG??5 2 ?> ��%& $ 50444-92. �<4 >?<<4F<G5-
E>>7> <E?>?=5=<O 3 '%� >4F57>D<O 4.2 ?> 
��%& 15150-69. 

�����'���� ����$�&� 

�??4D4F ?D<<5=O5FEO 4?O ?D>D<?4>F<>< < ?5-
G5=<O 745>?564=<=, E6O74==OE E =4DGL5=<5< 
>4?<??OD=>7> >D>6>F>>4 < ?<<D>F>>4. %>744645-
<O5 4??4D4F>< <<>D>6<5D4F<< E?>E>5EF6GNF 
G65?<G5=<N >D>6>F>>4 < ?<<D>F>>4 6 >5?4EF< 
6>745=EF6<O < >>47O64NF 6OD465==O= F5D4?56F<-
G5E><= MDD5>F ?D< ?5G5=<< 745>?564=<= 6>E?4?<-
F5?L=>7> < FD46<4F<G5E>>7> ?D><EE>645=<O. 
�??4D4F ?D54=47=4G5= 4?O ?D<<5=5=<O 6 ?5-

G55=>-?D>D<?4>F<G5E><E < E4=4F>D=OE GGD5645-
=<OE, 4 F4>65 6 4><4L=<E GE?>6<OE ?> D5>><5=44-
F<< < ?>4 >>=FD>?5< 6D4G4-E?5F<4?<EF4. 

�������& ��%&���� 

�><??5>F ?>EF46>< ?D<6545= 6 �4D4=F<==>< 
F4?>=5. 
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�%����/� &�%��'�%��� ����/� 

�4?DO65=<5 ?<F4=<O >F E5F< ?5D5<5==>7> F>>4, �&&.... 220 ± 22 

'4EF>F4 ?<F4NM5= E5F<, �F&&&&&&&&&&&&&& 50 

�>FD55?O5<4O <>M=>EFL, ��, =5 5>?55&&&&&&.&.. 8 

�4?DO65=<5 ?<F4=<O >F 6=5L=57> <EF>G=<>4  
?>EF>O==>7> F>>4, �....................................&&&&&. 12,6 ± 1,3 

�D5<O =5?D5DO6=>= D45>FO, G, =5 <5=55&&&&&..&& 8 

%D54=<= ED>> E?G65O, ?5F, =5 <5=55&&&&&&&&&.. 5 

�4EE4 4??4D4F4, =5FF>, >7, =5 5>?55&&&&&&.&&&. 0,7 

�454D<F=O5 D47<5DO, <<, =5 5>?55: 
M?5>FD>==>7> 5?>>4&&&&&&&&&&.&&&&& 
5?>>4 ?<F4=<O&&&&&&&&&&&&..&&&&.& 

135E63E35
80E50E90 

�4D4<5FDO =47=4G5=<O: 

�>?<G5EF6> D56<<>6 6>745=EF6<O&&&&&&&&&..& 
�>?<G5EF6> G4EF>F=OE ?>44<4?47>=>6 <<>D>6<5D4F<<& 

4 
2 

�<6=OO G4EF>F4 1-7> ?>44<4?47>=4, �F, 6 ?D545?4E&&.. 30-60 

�5DE=OO G4EF>F4 1-7> ?>44<4?47>=4, �F, 6 ?D545?4E&&. 1200-4500

�<6=OO G4EF>F4 2-7> ?>44<4?47>=4, �F, 6 ?D545?4E&... .. 200-1000 

�5DE=OO G4EF>F4 2-7> ?>44<4?47>=4, �F, 6 ?D545?4E&&. 9000-18000

�?<F5?L=>EFL >4=>7> F<>?4 <7<5=5=<O G4EF>FO  
<<>D>6<5D4F<<, E5>., 6 ?D545?4E &&&&.&&&&&&.. 

 
70-120 

�5D<>4 <<?G?LE=>= <>4G?OF<<, E5>., 6 ?D545?4E&...&... 0,5-1,2 

�<??<FG44 <<>D>6<5D4F<< <5<5D4=O  
=4 =<6=5= G4EF>F5 4<4?47>=4, <><, 6 ?D545?4E: 
6 D56<<4E 1 < 3.&&&&&&&&.&&&&&&&&&. 
6 D56<<4E 2 < 4&&&&&&&&..&&&&&&&..&.. 

2,8-5,4 
 6,0-12,3 
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��$/ ������%��%&� 

��������! � 5?>>5 ?<F4=<O 4??4D4F4, D45>-
F4NM57> >F E5F<, <<55FEO >?4E=>5 4?O 6<7=< 
?5D5<5==>5 =4?DO65=<5. �D< M>E??G4F4F<< 4??4-
D4F4 E>5?N44=F5 >5M<5 ?D46<?4 557>?4E=>EF< 
?D< ?>?L7>64=<< M?5>FD>?D<5>D4<<. 
���$�-��&%/ 6OF<D4FL ?O?L =4 >>D?GE5 

6?46=>= E4?D5F>>= ?D< 6>?NG5==>< 6 E5FL 4??4-
D4F5. �5 4>?GE>4=F5 ?>?444=<O 6?47< 6 >>D?GE 
4??4D4F4. 
���$�-��&%/ M>E??G4F<D>64FL 4??4D4F 6 

64==OE < 4GL56OE >><=4F4E, 4 F4>65 6> 6D5<O 
46<65=<O 46F><>5<?O ?D< ?<F4=<< >F 5>DF>6>= 
E5F<. 
���$�-��&%/ D475<D4FL, D5<>=F<D>64FL 

<?< <>45D=<7<D>64FL 4??4D4F E4<>EF>OF5?L=> 
<?< ?>DGG4FL MF> ?<F4<, =5 <<5NM<< E?5F<4?L-
=>= ?>47>F>6><. �D< 6>7=<>=>65=<< =5?>?44>> 6 
D45>F5 4??4D4F4 >5D4M4=F5EL 6 D5<>=F=O5 E?G6-
5O, G>474==O5 6 D4745?5 «�4D4=F<==O5 >5O74-
F5?LEF64». 
�D54>ED4=O=F5 4??4D4F >F ?445=<= < G44D>6 > 

F65D4GN ?>65DE=>EFL. �5 ?D<?474=F5 D4EFO7<64N-
M<E GE<?<= > L=GD4< ?D5>5D47>64F5?O < 5?>>4 
?<F4=<O.  
�D< =5>5E>4<<>EF< ?>4>?NG5=<O 4??4D4F4 > 

E5F< G5D57 G4?<=<F5?L D5>><5=4G5FEO <E?>?L7>-
64FL G4?<=<F5?L ?D><OL?5==>7> ?D><76>4EF64. 
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'%&$��%&�� ����$�&� 

� M?5>FD>==><G 5?>>G 4??4D4F4 (D<E. 1, ?>7. 1) 
?D<E>54<=5= 6<5D>4>GEF<G5E><= ?D5>5D47>64F5?L, 
D45>G5= G4EFLN >>F>D>7> O6?ONFEO 464 6<5D>D>=4 
(?>7. 2). $45>G<<< ?>65DE=>EFO<< 6<5D>D>=>6 
O6?ONFEO <5<5D4=O, <77>F>6?5==O5 <7 E?5F<4?L-
=>7> E??464 E 45>>D4F<6=O< ?>>DOF<5< (?>7.10). 
-?5>FD>==O= 5?>> <<55F 7=574> (?>7. 9) 4?O ?>4-
>?NG5=<O 6=5L=57> <EF>G=<>4 ?<F4=<O. � >4G5EF65 
<EF>G=<>4 ?<F4=<O <E?>?L7G5FEO 5?>> ?<F4=<O >F 
E5F< ?5D5<5==>7> F>>4 (?>7. 3). �4 ?<F56>= ?>-
65DE=>EF< M?5>FD>==>7> 5?>>4 D4E?>?>65=O 
>=>?>< G?D46?5=<O D45>F>= 4??4D4F4 (?>7. 4; 5; 6; 
7), 4 F4>65 F<DD>6>= 4<E??5= (?>7. 8), =4 >>F>D>< 
>F>5D464NFEO =><5D 6O5D4==>7> D56<<4 D45>FO 
4??4D4F4 (44?55 ?> F5>EFG 3 D56<<) < GEF4=>6?5=-
=4O 4?<F5?L=>EFL ?D>F54GDO (44?55 ?> F5>EFG 3 
4?<F5?L=>EFL <?< 6D5<O). 

 
 
 
 
 
 

 
 
 
 



6 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

$<E. 1. �=5L=<= 6<4 4??4D4F4. 

�����&���� ����$�&� � $���&�  
� ��$/��� $���&/ 

�>47>F>6>4 4??4D4F4 > D45>F5 

'554<F5EL 6 >FEGFEF6<< 6<4<<OE ?>6D5645=<= 
4??4D4F4. 
�5D54 ?5D6O< ?D<<5=5=<5< 4?O 457<=D5>F<< 

?D>FD<F5 ?>65DE=>EFL ?D5>5D47>64F5?O E4?D5F-
>>=, G6?46=5==>= 3 %-=O< D4EF6>D>< ?5D5><E< 
6>4>D>44. � ?D>F5EE5 M>E??G4F4F<< MFG ?D>F54GDG 
?>6F>DO=F5 ?D< =5>5E>4<<>EF<. 
�>4>?NG<F5 > M?5>FD>==><G 5?>>G 4??4D4F4 <E-

F>G=<> ?<F4=<O. �4 F<DD>6>< 4<E??55 M?5>FD>=-
=>7> 5?>>4 ?>E?5 ?>4>?NG5=<O <EF>G=<>4 ?<F4=<O 

3 6 7 4
8 9

1 5

2 10
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=4 465 E5>G=4O 6OE65F<FEO <=D>D<4F<O  I   oo  

(E>EF>O=<5 «?>47>F>6>4 > D45>F5»), 4 74F5< 46F>-
<4F<G5E>< GEF4=>6<FEO <EE>4=O= D56<< 1 < 4?<-
F5?L=>EFL ?D>F54GDO 20 <<=GF:  I   20 . � MF>< 

E>EF>O=<< 4??4D4F 7>F>6 > ?D>6545=<N ?D>F54GDO 
<?< > GEF4=>6>5 <=OE 7=4G5=<= D56<<4 < 4?<F5?L-
=>EF<. 
�E?< 4??4D4F =5 6OE>4<F <7 E>EF>O=<O «?>47>-

F>6>4 > D45>F5» <?< ?5D5E>4<F 6 E>EF>O=<5 >6<44-
=<O (4<E??5= ?>74E45F), =46<<F5 =4 >=>?>G % 
«EF4DF/EF>?» (?>7. 6), ?D< MF>< 4>?65= 6>EEF4=>-
6<FLEO <EE>4=O= D56<<. 

'EF4=>6>4 D56<<4 ?D>F54GDO 

�464F<5< >=>?>< $ «D56<<» (?>7. 7) GEF4=>6<-
F5 D5>><5=4G5<O= <5F>4<>>= D56<< ?D>F54GDO. 
�><5D GEF4=46?<645<>7> D56<<4 >F>5D4645FEO 
6 >D4==5< ?56>< D47DO45 F<DD>6>7> 4<E??5O. % 
>464O< =464F<5< >=>?>< =><5D <7<5=O5FEO ?> 
F<>?G 1-2-3-4 3 1-2-& < F4> 44?55. 

'EF4=>6>4 4?<F5?L=>EF< ?D>F54GDO 

�=>?>4<< « + » (?>7. 4) < « 3 » (?>7. 5) GEF4=>6<-
F5 D5>><5=4G5<GN <5F>4<>>= 4?<F5?L=>EFL (6D5-
<O) ?D>F54GDO. �?<F5?L=>EFL 6 <<=GF4E >F>5D4-
645FEO 6 46GE ?D46OE D47DO44E F<DD>6>7> 4<E-
??5O. �?<F5?L=>EFL <>65F 5OFL GEF4=>6?5=4 6 
4<4?47>=5 >F 1-= 4> 60 <<=GF E 4<E>D5F=>EFLN 



8 

1 <<=GF4. �D< G45D64=<< >=>?>< « + » <?< « 3 » 6 
=464F>< E>EF>O=<< 5>?55 1-= E5>G=4O, ?D><EE>4<F 
46F><4F<G5E>>5 G65?<G5=<5 (G<5=LL5=<5) 4?<-
F5?L=>EF<. 

�D>6545=<5 ?D>F54GDO 

'EF4=>6<F5 6<5D>D>=O E>7?4E=> 6O5D4==>= 
<5F>4<>5. �>E?5 GEF4=>6>< D5>><5=4G5<OE D56<-
<4 < 4?<F5?L=>EF< =46<<F5 < >F?GEF<F5 >=>?>G % 
«EF4DF/EF>?» (?>7. 6). �??4D4F =4G=5F 6O?>?=OFL 
7444==GN ?D>F54GDG, ?D< MF>< D47DO4O 6D5<5=< 
F<DD>6>7> 4<E??5O 5G4GF <5DF4FL, < ?>>47O64FL 
6D5<O, >EF46L55EO 4> 7465DL5=<O ?D>F54GDO. 
$45>F4 4??4D4F4 E>?D>6>6445FEO =5?D5DO6-

=O< 76GG4=<5< <5<5D4= 6<5D>D>=>6. �5D6O5 5-
30 E5>G=4 ?>E?5 6>?NG5=<O 4??4D4F4 F>= 76GG4=<O 
5G45F =<7>>G4EF>F=O< (30-60 �F). �>E?5 MF>7> >= 
5G45F ?>6OL4FLEO 4> ?>GF< =5E?OL<<>= G4EF>FO 
(9000-18000 �F), 74F5< <7<5=OFLEO 6 >5D4F=>< 
?>DO4>5 3 >F 6OE>>>= > =<7>>=. �>E?54>64F5?L-
=>EFL <7<5=5=<O G4EF>FO F<>?<G=> ?>6F>DO5FEO 6 
?D>F5EE5 D45>FO 4??4D4F4. 
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�465DL5=<5 ?D>F54GDO 

�> <EF5G5=<< 7444==>7> 6D5<5=< 4??4D4F 46-
F><4F<G5E>< 7465DL<F D45>FG < ?>E?5 =5?D>4>?-
6<F5?L=>= ?4G7O (1-2 E5>G=4O) ?5D5=45F 6 E>EF>O-
=<5 >6<44=<O 66>44 >><4=4. �D< MF>< =4 F<DD>-
6>< 4<E??55 6OE65F<FEO D56<< < 4?<F5?L=>EFL 
6O?>?=5==>= ?D>F54GDO. 
�D< =5>5E>4<<>EF< <>6=> ?D5D64FL ?D>6545-

=<5 ?D>F54GDO. �?O MF>7> =46<<F5 < >F?GEF<F5 
>=>?>G % «EF4DF/EF>?» (?>7. 6). �D< MF>< 6>EEF4=>-
6OFEO ?5D6>=4G4?L=> 6O5D4==O5 D56<< < 4?<-
F5?L=>EFL. 

�6F>6O>?NG5=<5 4??4D4F4 

�E?< 4??4D4F =4E>4<FEO 6 E>EF>O=<< >6<44=<O 
66>44 >><4=4 5>?55 2-E <<=GF, F> F<DDO =4 4<E-
??55 74E=GF, < 6OE65G<645FEO F>G>4 6 D47DO45 
D56<<4. �5D5E>4 <7 MF>7> E>EF>O=<O 6 E>EF>O=<5 
7>F>6=>EF< > D45>F5 ?D><EE>4<F ?D< >4=>>D4F=>< 
=464F<< =4 ?N5GN >=>?>G =4 ?4=5?< 4??4D4F4. 
�D< ?5D5DO65 6 <E?>?L7>64=<< 4??4D4F4 5>?55 

3-E <<=GF, >= 46F><4F<G5E>< ?5D5E>4<F 6 E>EF>O-
=<5 ?>=<65==>7> M=5D7>?>FD55?5=<O 3 F<DD>6>= 
4<E??5= ?>?=>EFLN ?>74L5=. �O65EF< 4??4D4F <7 
MF>7> E>EF>O=<O <>6=> =4646 =4 >=>?>G % 
«EF4DF/EF>?» (?>7. 6). �D< MF>< =4 465 E5>G=4O 

6OE65G<645FEO <=D>D<4F<O  I   >>  (E>EF>O=<5 
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«?>47>F>6>4 > D45>F5»), 4 74F5< 46F><4F<G5E>< 
GEF4=46?<645FEO <EE>4=O= D56<< 1 < 4?<F5?L-
=>EFL 20 <<=GF:  I   20 . � MF>< E>EF>O=<< 4??4D4F 
7>F>6 > ?D>6545=<N ?D>F54GDO <?< > GEF4=>6>5 
4DG7<E 7=4G5=<= D56<<4 < 4?<F5?L=>EF<. 

�O>?NG5=<5 4??4D4F4 

�> >>>=G4=<< ?D>F54GDO ?><5EF<F5 6<5D>D>-
=O 6 74M<F=O= DGF?OD 4?O ?D54>ED4=5=<O <5<-
5D4= >F ?>6D5645=<O < >FE>54<=<F5 ?D< =5>5E>-
4<<>EF< <EF>G=<> ?<F4=<O >F M?5>FD>==>7> 5?>>4 
4??4D4F4. �E?< ?5D54 >FE>54<=5=<5< <EF>G=<>4 
?<F4=<O 4??4D4F =4E>4<?EO 6 E>EF>O=<< ?>=<65=-
=>7> M=5D7>?>FD55?5=<O, F> D5>><5=4G5FEO ?D54-
64D<F5?L=> 6O65EF< 57> <7 MF>7> E>EF>O=<O, =4646 
=4 >=>?>G % «EF4DF/EF>?» (?>7. 6). 
�D< 4?<F5?L=OE ?5D5DO64E 6 ?>?L7>64=<< ED4-

=<F5 4??4D4F G?4>>64==O< 6 ?>FD55<F5?LE>GN 
F4DG 6 GE?>6<OE, G>474==OE 6 D4745?5 «'%����/ 
-�%��'�&�&��, &$��%��$&�$�����/ � 
%$�����/». 
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'%����/ -�%��'�&�&��, &$��%��$&�$����, 

%$�����/ � '&�����&�� 

�??4D4F ?D54=47=4G5= 4?O M>E??G4F4F<< ?D< 
F5<?5D4FGD5 >>DG64NM57> 6>74GE4 ??NE (25±10) 
>% < >F=>E<F5?L=>= 6?46=>EF< >F 45 4> 80 %. 
�??4D4F 4>?GE>45FEO ED4=<FL < FD4=E?>DF<D>-

64FL 6 G?4>>64==>< 6<45 ?D< F5<?5D4FGD5 >F 
<<=GE 10 4> ??NE 40 

>% < >F=>E<F5?L=>= 6?46=>-
EF< =5 5>?55 80 %. �>E?5 ?5D56>7>< <?< ED4=5=<O 
6 E>?>4=>< ?><5M5=<< 4??4D4F =5>5E>4<<> 
6O45D64FL ?5D54 6>?NG5=<5< 6 E5FL ?D< >><=4F-
=>= F5<?5D4FGD5 =5 <5=55 2-E G4E>6. 
�??4D4F =5 >F=>E<FEO > 5OF>6O< >FE>44<. �D< 

57> GF<?<74F<< 4??4D4F =5>5E>4<<> ?5D544FL 6 
?G=>F E5>D4, ?5D5D45>F>< < D47<5M5=<O >FE>4>6  
M?5>FD>==OE < M?5>FD<G5E><E GEFD>=EF6. 

�=D>D<4F<O ?> >55E?5G5=<N  
M?5>FD><47=<F=>= E>6<5EF<<>EF< (-�%) 

�??4D4F ?> -�% E>>F65FEF6G5F FD55>64=<O< 
��%& $ 50267.0.2-2005 (�-� 60601-1-2:2001) < 
4>?65= M>E??G4F<D>64FLEO 6 E>>F65FEF6<< 
E ?D<6545==>= 6 44==>< D4745?5 <=D>D<4F<5=. 
�$��'�$�������. �D<<5=5=<5 4??4D4F4 

E>6<5EF=> <?< 6> 674<<>E6O7< E 4DG7<< >5>DG4>-
64=<5< =5 ?D54GE<>FD5=>, 4 5E?< F4>>5 <E ?D<<5-
=5=<5 O6?O5FEO =5>5E>4<<O<, F> =>D<4?L=>5 
DG=>F<>=<D>64=<5 4??4D4F4 6 MF>= >>=D<7GD4F<< 
4>?6=> 5OFL ?>4F65D645=> <E?OF4=<5<. 
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����%�-��%%�/. �><5E>M<<EE<O 4??4D4-
F4 E>>F65FEF6G5F FD55>64=<O< ��%& $ 51318.11-
99 (%�%�$ 11-97) 4?O GEFD>=EF6 >?4EE4 � 7DG?-
?O 1, ?D54=47=4G5==OE 4?O ?D<<5=5=<O 6 ?N5OE 
<5EF4E D47<5M5=<O, 6>?NG4O 6<?O5 4><4 < 744-
=<O, =5?>ED54EF65==> ?>4>?NG5==O5 > D4E?D545-
?<F5?L=>= M?5>FD<G5E>>= E5F<, ?<F4NM5= 6<?O5 
4><4. �??4D4F <E?>?L7G5F D44<>G4EF>F=GN M=5D-
7<N F>?L>> 4?O 6O?>?=5=<O 6=GFD5==<E DG=>F<=. 
'D>65=L M<<EE<< D44<>G4EF>F=OE ?><5E O6?O5FEO 
=<7><< < =5 ?D<6545F > =4DGL5=<O< DG=>F<>=<D>-
64=<O D4E?>?>65==>7> 65?<7< M?5>FD>==>7> >5>-
DG4>64=<O. 
����%�'%&��'���%&,. �??4D4F GEF>=G<6 

> M?5>FD>EF4F<G5E><< D47DO44< ±4 >�. �EE>4O <7 
MF>7> ?>?O ?><5M5=<O, 6 >>F>D>< M>E??G4F<DG5FEO 
4??4D4F, 4>?6=O 5OFL 6O?>?=5=O <7 45D564, 
55F>=4 <?< >5D4<<G5E>>= ??<F><. �E?< ?>?O 
?>>DOFO E<=F5F<G5E><< <4F5D<4?><, F> >F=>E<-
F5?L=4O 6?46=>EFL 6>74GE4 4>?6=4 E>EF46?OFL =5 
<5=55 80 %. �D< ?D<<5=5=<< 4=F<EF4F<G5E><E 
<4F5D<4?>6 >F=>E<F5?L=4O 6?46=>EFL 6>74GE4 
4>?6=4 E>EF46?OFL =5 <5=55 30 %. 
�4G5EF6> M?5>FD<G5E>>= M=5D7<<, GD>6=< <47-

=<F=>7> ?>?O ?D><OL?5==>= G4EF>FO 6 M?5>FD<G5-
E>>= E5F< 744=<O 4>?6=> E>>F65FEF6>64FL F<?<G-
=O< GE?>6<O< >><<5DG5E>>= <?< 5>?L=<G=>= 
>5EF4=>6><. �E?< ?>?L7>64F5?N 4??4D4F4 FD55G-



 13 

5FEO =5?D5DO6=4O D45>F4 6 GE?>6<OE 6>7<>6=OE 
?D5DO64=<= E5F56>7> =4?DO65=<O, D5>><5=4G5FEO 
>55E?5G<FL ?<F4=<5 4??4D4F4 >F <EF>G=<>4 55E?5-
D55>==>7> ?<F4=<O. 
�D< M>E??G4F4F<< 4??4D4F4 65?<7< >F EF4F<>-

=4D=OE D44<>?5D544FG<>>6, F4><E >4> 547>6O5 
EF4=F<< D44<>F5?5D>==OE E5F5= (E>F>-
6OE/55E?D>6>4=OE) < =475<=OE ?>46<6=OE D44<>-
EF4=F<=, ?N5<F5?LE><E D44<>EF4=F<=, AM < FM 
D44<>65M4F5?L=OE ?5D544FG<>>6, F5?56<7<>==OE 
?5D544FG<>>6, E?54G5F ?D>6>4<FL =45?N45=<O 74 
D45>F>= 4??4D4F4 E F5?LN ?D>65D>< 57> =>D<4?L-
=>7> DG=>F<>=<D>64=<O. �E?< 6 ?D>F5EE5 =45?N-
45=<O 6OO6?O5FEO >F>?>=5=<5 >F =>D<4?L=>7> 
DG=>F<>=<D>64=<O, F>, 6>7<>6=>, =5>5E>4<<> 
?D<=OFL 4>?>?=<F5?L=O5 <5DO, F4><5 >4> ?5D5-
>D<5=F<D>6>4 <?< ?5D5<5M5=<5 4??4D4F4. 
%?54G5F <<5FL 6 6<4G, GF> ?D<<5=5=<5 <>-

5<?L=OE D44<>G4EF>F=OE ED54EF6 E6O7< <>65F 
>>47O64FL 6>745=EF6<5 =4 4??4D4F. $4EEF>O=<5 
<564G <E?>?L7G5<O<< <>5<?L=O<< D44<>F5?5-
D>==O<< E<EF5<4<< E6O7< < ?N5O< M?5<5=F>< 
4??4D4F4, 6>?NG4O >455?<, 4>?6=> 5OFL =5 <5=L-
L5 D5>><5=4G5<>7> ?D>EFD4=EF65==>7> D47=>E4 6 
2,3 <. 
�><5E< <>7GF <<5FL <5EF> 65?<7< >5>DG4>64-

=<O, <4D><D>64==>7> 7=4>><: 
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$��������&�� �� �$�������. 

�$�&�����������/ � �$�������. 

�D<<5=5=<5 4??4D4F4 ?D>F<6>?>>474=>: 
- 6 >5?4EF< 5?<65 45EOF< E4=F<<5FD>6 >F 

7?>>4G5EF65==OE =>6>>5D47>64=<=; 
- ?D< 55D5<5==>EF< 5?<65 45EOF< E4=F<-

<5FD>6 >F ??>44; 
- 6 >5?4EF< 5?<65 45EOF< E4=F<<5FD>6 >F 

FD><54 ?D< FD><5>D?55<F5;  
- 6 >5?4EF< 5?<65 45EOF< E4=F<<5FD>6 >F 

4F5D>E>?5D>F<G5E>>7> >5D47>64=<O ?D< 6OD4-
65==>< 4F5D>E>?5D>75; 

- ?D< >EFDOE <=D5>F<>==OE 745>?564=<-
OE; 

- 6 >EFD>= D475 <=D5>F<>==>7> 745>?5-
64=<OE < 6OE>>>= (5>?55 38,5 °%) F5<?5D4FGD5 
F5?4 (74 <E>?NG5=<5< E?GG456 =4?<G<O E?5F<-
4?L=OE <5F>4<G5E><E D5>><5=44F<=); 

- 6 >5?4EF< 45=EF6<O <<??4=F<D>64==OE 
EF<<G?OF>D>6. 

$��������'�%��� ��%����� ������%&��/ 

�<>D>6<5D4F<O F>4=5=, F4>65 >4> < F5??>, 
O6?O5FEO 646=>= < =574<5=<<>= E>EF46?ONM5= 
D<7<>?>7<G5E><E < <<<G==OE ?D>F5EE>6. �<>-
D>6<5D4F<O =5>5E>4<<4 4?O ?<<D>4D5=464, 
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65=>7=>7> >FF>>4, 4?O >55E?5G5=<O ?<F4=<O 
>?5F>>, G44?5==OE >F >4?<??OD>6, 4?O >55E?5-
G5=<O <<<G==OE ?D>F5EE>6 6 G4EF< ?D>46<65-
=<O < >>=F4>F4 ?5=>>F<F>6 E >?5F>4<< F>4=<, 
4?O =>D<4?L=>7> >>EF=><>77>6>7> >D>65F6>D5-
=<O. �EF>G=<>>< <<>D>6<5D4F<< 6 6<6>< >D74-
=<7<5 O6?O5FEO ?5D<>4<G5E>>5 E>>D4M5=<5 
<<>D<5D<?? <OL5G=OE >?5F>>.  
�D>F5EEO <5F45>?<7<4 6 >D74=<7<5 ?D><E-

E>4OF ?<LL ?D< >>=F4>F=>< 674<<>45=EF6<< 
5<>?>7<G5E><E EG5EF4=F<= (DG=44<5=F4?L=O= 
74>>= 5?<7>>45=EF6<O). �?O F>7> GF>5O D54>F<O 
E>EF>O?4EL =5>5E>4<<> =5?>ED54EF65==>5 
E5?<65=<5 674<<>45=EF6GNM<E >><?>=5=F>6 < 
<E ?D>EFD4=EF65==4O >D<5=F4F<O >F=>E<F5?L=> 
4DG7 4DG74. �>MF><G =4?<G<5 <<>D>6<5D4F<= 
>?5F>> < >DG?=OE 5<>?>7<G5E><E <>?5>G? O6?O-
5FEO =5>5E>4<<O< GE?>6<5< 4?O 5>?LL<=EF64 
5<>?>7<G5E><E <, >E>55==>, <<<G=>?>7<G5E><E 
D54>F<=.  
�<>D>6<5D4F<< =5 F>?L>> G65?<G<64NF G4E-

F>FG >>=F4>F>6 < >55E?5G<64NF <7<5=5=<5 
>D<5=F4F<< 5<>>><?>=5=F>6 6 ?D>EFD4=EF65, => 
< >5?57G4NF <E ?D>E>645=<5 G5D57 M=4>F5?<-
4?L=O5 M5?< < D47?<G=O5 <5<5D4=O, F> 5EFL 
GE<?<64NF FD4=E?>DF 65M5EF6 < >?5F>> <7 
>4?<??OD>6 6 <=F5DEF<F<< < >5D4F=> <7 <=F5D-
EF<F<= 6 65=>7=O5 < ?<<D4F<G5E><5 >4?<??O-
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DO. �4?<G<5 >?4?4=>6 6 65=>7=OE < ?<<D4F<-
G5E><E E>EG44E ?D56D4M45F <<>D>6<5D4F<N 6 
=4?D46?5==>5 46<65=<5 >D>6< < ?<<DO.  
�5E4=<G5E><5 >>?554=<O ?D<EGFEF6GNF 6 >D-

74=<7<5 5?47>44DO =5 F>?L>> ?G?LE>6>= 4>F<6-
=>EF< E5D4F4 (<=DD476G>>6O5 G4EF>FO) < E>EG-
4<EF>-<OL5G=>= 4>F<6=>EF< (76G>>6O5 G4EF>-
FO), => < 5?47>44DO <5E4=<G5E><< 6>745=EF6<-
O< 6=5L=5= ED54O. &4><< >5D47><, 6<5D>4>G-
EF<G5E><5 4??4D4FO 6>745=EF6GNF =4 F>4=< 
5EF5EF65==O< 4?O >D74=<7<4 D<7<G5E><< 
D4>F>D>< <<>D>6<5D4F<<.   
%=<65=<5 <=F5=E<6=>EF< <<>D>6<5D4F<= 

F>4=5= ?D<6>4<F > 74<54?5=<N <<<G==OE 
D54>F<=, GEG4L5=<N ?<<D>4D5=464 < 65=>7-
=><G 74EF>N, GF> 6 >>=5G=>< <F>75 E=<645F 
<<<G=<F5F < E?>E>5=>EFL >D74=<7<4 > E4<>6>E-
EF4=>6?5=<N.   
�5D<F<F <<>D>6<5D4F<< <>65F 6>7=<>4FL E 

6>7D4EF><, ?D< ED>=<G5E>>= GEF4?>EF<, ?5D5-
GF><?5=<< >F <=F5=E<6=OE < 4?<F5?L=OE =47DG-
7>>, ?D< FD46<4E, 6>E?4?<F5?L=OE ?D>F5EE4E, 
?D< =4DGL5=<< >D>6>E=4565=<O >F45?>6 E?<=-
=>7> <>774, ?D< >5M5< E=<65=<< <=F5=E<6=>EF< 
E>>D4M5=<O <OL5G=OE >?5F>>, 6>7=<>4NM57> 
?> 4DG7<< ?D<G<=4<.  
�<5D>4>GEF<G5E>>5 6>745=EF6<5 4??4D4F4 

«�<F4D>=-&» ?>76>?O5F E>><?5=E<D>64FL 
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45D<F<F <<>D>6<5D4F<= 6 ?>>4?L=>= >5?4EF< 
>F <<=<<4?L=> 4>EF4F>G=>7> GD>6=O 4> D<7<>-
?>7<G5E>>7> <4>E<<G<4, >>F>DO= >?D545?O5FEO 
>4> <=F5=E<6=>EFL <<>D>6<5D4F<= <OL5G=>= 
F>4=< ?D< <4>E<<4?L=>< D<7<G5E>>< =4?DO65-
=<< 74>D>6>7> >D74=<7<4. �<5D>4>GEF<G5E>>5 
6>745=EF6<5 ?>76>?O5F 4>5<64FLEO E?54GNM<E 
MDD5>F>6: 

1. 'E<?5=<O =4E>E=>= DG=>F<< >4> ?<<D4-
F<G5E><E, F4> < 65=>7=OE >4?<??OD>6 < <5?><E 
E>EG4>6, 6E?54EF6<5 G57> G?GGL45FEO 4D5=46 
F>4=5=.  

2. '65?<G5=<O 6OE>44 D>D<5==OE M?5-
<5=F>6 >D>6< (?<<D>F<F>6, MD<FD>F<F>6 < F.?.) 
<7 4DF5D<4?L=OE >4?<??OD>6 6 <=F5DEF<F<< < 
D>4>=4G4?L=OE >D>65F6>D=OE EF6>?>6OE >?5F>> 
<7 >>EF=>7> <>774 6 65=>7=O= E<=GE.  

3. �>6OL5=<O ?D>6>4<<>EF< <=F5DEF<F<= 
6 >F=>L5=<< ?5D5<5M5=<O >4F45>?<F>6 < 
<5F45>?<F>6 < G65?<G5=<O G4EF>FO >>=F4>F>6 
5<>?>7<G5E><E >><?>=5=F>6 6 <=F5DEF<F<<, 74 
EG5F G57> <=F5=E<D<F<DGNFEO <<<G==O5 < 
4DG7<5 D54>F<<. 

4. '65?<G5=<O ?D>=<F45<>EF< M=4>F5?<-
4?L=OE M5?5= ?<<D4F<G5E><E >4?<??OD>6 4?O 
>DG?=OE ?<<D>>5D47GNM<E DD4>F<=, E?>E>5-
EF6GO F5< E4<O< ?>=<65=<N >=>>F<G5E>>7> 
446?5=<O 6 F>4=< < G65?<G5=<N 6O6>44 6 F<D-



18 

>G?OF<N F<F>><=>6 < <54<4F>D>6, >55E?5G<-
64NM<E 5>?55 445>64F=O5 E<EF5<=O5 D54>F<< 
>D74=<7<4.  

5. 'E>>D5=<O D<?LFD4F<>==OE ?D>F5EE>6, 
?D><EE>4OM<E =4 ?>D<EFOE <5<5D4=4E (=4?D<-
<5D, 6 =5DD>=4E ?>G5>). 

6. �>75G645=<O <5E4=>D5F5?F>D>6 (F5?L-
F4 �4G<=<, �5=E=5D4, E6>5>4=OE =5D6=OE 
>>>=G4=<= < 4D.).  
�<5D>4>GEF<G5E>4O F5D4?<O F5< MDD5>F<6-

=55, G5< 5>?LL<= 45D<F<F <<>D>6<5D4F<= 
<E?OFO64NF F>4=<. -F4 >E>55==>EFL, 4 F4>65 
>FEGFEF6<5 6<5L4F5?LEF64 6 F>=><5 5<>E<<<-
G5E><5 <5E4=<7<O D57G?OF<< < >?D545?<?< 
6OE>>GN 557>?4E=>EFL, MDD5>F<6=>EFL < L<D>-
><= E?5>FD ?D<<5=5=<O 6<5D>4>GEF<G5E>>= 
F5D4?<<. 

�$������&��,��%&, ��'���/ 

�OD465==O= ?5G55=O= MDD5>F 6 5>?LL<=-
EF65 E?GG456 =4EFG?45F 6 D57G?LF4F5 ?D>6545-
=<O >GDE>6>7> ?5G5=<O. �D>4>?6<F5?L=>EFL 
>GDE4 ?5G5=<O 746<E<F >F FO65EF<, 4?<F5?L=>-
EF< < E4D4>F5D4 745>?564=<O < >>?55?5FEO 6 
?D545?4E >F =5E>>?L><E 4=5= 4> =5E>>?L><E 
<5EOF56. �D< ?5D<>4<G5E>>< ?D<<5=5=<< 
4??4D4F4 ?5G55=O= MDD5>F =4>4??<645FEO.  
�D<6O>4=<O > 6<5D>4>GEF<G5E>><G 6>745=-
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EF6<N E =5?D5DO6=> <5=ONM5=EO 76G>>6>= 
G4EF>F>= =5 >5=4DG65=>. �4=4>> ?D< =5>>F>DOE 
ED>=<G5E><E 745>?564=<OE, F4><E >4> 7<?5DF>-
=<O, 445=><4, 7?4G>><4 < 4DG7<5, ?D5>D4M5=<5 
6<5D>4>GEF<G5E>>= F5D4?<< ?>E?5 4>EF<65=<O 
?5G55=>7> MDD5>F4 ?D<<5D=> G5D57 2-3 <5EOF4 
?D<6>4<F > ?>EF5?5==>= GFD4F5 4>EF<7=GF>7> 
D57G?LF4F4. �>MF><G FD55G5FEO ?<5> ?5D<>4<-
G5E>>5 ?>6F>D5=<5 >GDE>6 6<5D>4>GEF<G5E>>= 
F5D4?<<, ?<5> ?D>6545=<5 ?>445D6<64NM57> 
?5G5=<O (?D>F54GDO ?D>6>4OFEO 2-4 D474 6 
=545?N). 
�564G >GDE4<< ?5G5=<O FD44<F<>==> 45?4-

NF ?5D5DO6. �5D5DO6 6 6<5D>4>GEF<G5E>>= 
F5D4?<< >F=>EOF > 6>745=EF6<N =4 >>=>D5F=GN 
>5?4EFL. �D< MF>< 6 E<?G ?>>4?L=>7> 45=EF6<O 
<<>D>6<5D4F<< G5D54>64=<5 >5?4EF5= 6>745=-
EF6<O O6?O5FEO ?5D5DO6><. �>EF4F>G=O< ?5D5-
DO6>< EG<F45FEO 5-7 4=5=.  

�-'-���/ 

�> 6D5<O ?D>F54GDO >MGM5=<O ?<5> >FEGF-
EF6GNF, ?<5> =45?N445FEO ?D<OF=>5 GG6EF6> 
F5??4 < 6<5D4F<<. �D< ED>=<G5E><E 745>?564-
=<OE <=>744 6>7=<>45F GE<?5=<5 5>?57=5==OE 
>MGM5=<=. �44> >F<5F<FL, GF> >5>EFD5=<5 ?D< 
?5G5=<< ED>=<G5E><E 5>?57=5= =5<7556=> < 
E6<45F5?LEF6G5F > ?>?>6<F5?L=OE <7<5=5=<OE 
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6 E>45 5>?57=<. 'E<?5=<O E>5EF65==> 5>?57-
=5==OE >MGM5=<= <>6=> <75564FL, 5E?< 4>7G 
?5G55=>7> 6>745=EF6<O G65?<G<64FL ?>EF5?5=-
=> < ?D<<5=OFL, 5E?< FD55G5FEO, ?D>F<6>6>E?4-
?<F5?L=O5 <?< 54>F5D<F<4=O5 ?D5?4D4FO.  
%G5N5>F<6=O5 >MGM5=<O D57G?LF4F>6 ?5G5-

=<O =4EFG?4NF =5 ED47G. �=>744 G5D57 =5E>>?L-
>> 4=5=, <=>744 F>?L>> ?>E?5 >4=>7>, 4 F> < 
=5E>>?L><E >GDE>6 ?5G5=<O. 

����%&� ������%&��/ 

�5?4EF< 6>745=EF6<O FD44<F<>==O 4?O 6<5-
D>4>GEF<G5E>>= F5D4?<<: <5EF=>5 6>745=EF6<5 
=4 >5?4EFL ?4F>?>7<<, 6>745=EF6<5 =4 >5?4EFL 
?>G5>, >5?4EFL ?5G5=< < 6>745=EF6<5 =4 D47-
?<G=O5 >F45?O ?>76>=>G=<>4.  
�>745=EF6<5 =4 >5?4EFL ?4F>?>7<< ?>6OL4-

5F <5EF=O5 <<<G==O5 D54>F<<, G?GGL45F ?<<-
D>4D5=46 < 65=>7=O= >FF>>, E?>E>5EF6GO 
G<5=LL5=<N >F5>4 < 6O6>4G <7 F>4=5= 6 >D>6L 
?D>4G>F>6 <5F45>?<7<4, E?>E>5EF6GO 445>64F-
=>= D54>F<< >D74=<7<4 =4 E>EF>O=<5 >5?4EF< 
?4F>?>7<<. 'EF4=>6>4 6<5D>D>=>6 >EGM5EF6?O-
5FEO ?> E?54GNM5<G ?D<=F<?G: =5?>ED54EF65=-
=> DO4>< <?< 6>>DG7 >5?4EF< ?4F>?>7<< =4 
=4<5>?55 D>6=GN 74>D>6GN G4EFL F5?4 4?O 
??>F=>7> ?D<?574=<O. �5G5=<5 6E5744 <45F E> 
EF>D>=O 74>D>6>= G4EF< F5?4 6 =5?>ED54EF65=-
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=>= 5?<7>EF< > ?4F>?>7<G5E>><G >G47G. �> <5D5 
G<5=LL5=<O ?4F>?>7<G5E>>7> >G474 ?D<5?<64-
5FEO < >5?4EFL 6>745=EF6<O.  
�>745=EF6<5 =4 >5?4EFL ?>G5> G?GGL45F <E 

DG=>F<N ?> ?>445D64=<N ><E?>F=>-M5?>G=>7> 
54?4=E4 >D>6< < 55 >G<EF>5 >F ?D>4G>F>6 4>F<6-
=>EF< <OL5G=OE >?5F>>, E>EF46?ONM<E 5>?55 
?>?>6<=O <4EEO F5?4 < D4EE>4GNM<E >>>?> 80 
?D>F5=F>6 M=5D75F<G5E>>7> ?>F5=F<4?4 >D74-
=<7<4. �>745=EF6<5 =4 >5?4EFL ?>G5> E?>E>5-
EF6G5F =>D<4?<74F<< 4DF5D<4?L=>7> 446?5=<O, 
GE>>D5=<N 6>EEF4=>6?5=<O <OL5G=OE 6>?>>>= 
<, >4> E?54EF6<5, ?>6OL5=<N D45>F>E?>E>5=>-
EF<. �EF>G=<>>< <<>D>6<5D4F<< 4?O ?>G5> 
O6?O5FEO <OL5G=O= E?>= ?>G5G=>= ?>E4=>< < 
?D<?574NM<5 <OLFO E?<=O. �>MF><G =4 >5-
?4EFL ?>G5> 6>745=EF6GNF E> EF>D>=O E?<=O 6 
?D>5>F<< ?>G5G=>= ?>E4=><.  
�>745=EF6<5 =4 >5?4EFL ?5G5=< E?>E>5EF6G-

5F G?GGL5=<N 55 DG=>F<<, ?D5?OFEF6GO =4>>?-
?5=<N 6 >D>6< F>>E<G5E><E < 4DG7<E 65M5EF6, 
?>4?564M<E D47?>65=<N 6 ?5G5=<. �EF>G=<>>< 
<<>D>6<5D4F<< 4?O ?5G5=< O6?O5FEO F>=GE 
65?G=>7> ?G7ODO < 4<4DD47<4. �>MF><G 6 
6<5D>4>GEF<G5E>>= F5D4?<< 6 >E=>6=>< 6>745=-
EF6GNF =4 >5?4EFL 65?G=>7> ?G7ODO 6 ?D>5>F<< 
=4 6<6>F < 6 ?D>5>F<< 4<4DD47<O =4 7DG4=GN 
>?5F>G.  
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�>745=EF6<5 =4 >5?4EFL ?>76>=>G=<>4 E?>-
E>5EF6G5F G?GGL5=<N >D>6>E=4565=<O E?<==>-
7> <>774, 6>EEF4=>6?5=<N ?D>6>4<<>EF< =5D6-
=OE ?GF5=, G<5=LL5=<N >F5>4 (5E?< >= 5EFL), 
5>?55 ?>?=><G 6>EEF4=>6?5=<N M=5D75F<G5E>>-
7> ?>F5=F<4?4 <OL5G=OE < =5D6=OE >?5F>>, 
>5?57G5=<N 6OE>44 EF6>?>6OE >?5F>> <7 >>EF-
=>7> <>774 6 >D>65=>E=>5 DGE?>. �?O 6>EEF4-
=>6?5=<O <OLF E?<=O 6>745=EF6GNF ?4D465D-
F55D4?L=>. �?O G>D5??5=<O <56?>76>=>G=OE 
4<E>>6, G?GGL5=<O >D>6>E=4565=<O E?<==>7> < 
>>EF=>7> <>774 6>745=EF6GNF =4 F5=FD4?L=O5 
>FD>EF>< ?>76>=>>6.   
�>745=EF6<5 =4 >5?4EFL ?>G5>, ?5G5=< < ?>-

76>=>G=<>4 ?D<<5=O5FEO F4>65 4?O >5M57> 
G>D5??5=<O >D74=<7<4 < ?D>D<?4>F<>< 745>?5-
64=<=. �E?< =5F ?D>F<6>?>>474=<=, F> 6<5D>4-
>GEF<G5E>>5 6>745=EF6<5 =4 >5?4EFL ?>G5>, 
?5G5=< < ?>76>=>G=<>4 6E5744 6>?NG45FEO 6 
>><??5>E ?5G5=<O. �5G5=<N ?>465D745FEO 
>D74=<7<, 4 =5 F>?L>> 5>?57=5==4O >5?4EFL. 

%�'�&���� % �$'���� ��&����� ��'���/ 

�<5D>4>GEF<G5E>4O F5D4?<O E>D>L> E>G5F4-
5FEO E 4DG7<<< <5F>44<< D<7<>F5D4?<< < 
?5>4DEF65==>= F5D4?<5=. �D< MF>< E?54G5F 
GG5EFL, GF> 6<5D>4>GEF<G5E>>5 6>745=EF6<5 
?>6OL45F MDD5>F<6=>EFL ?5>4DEF65==>= F5D4-



 23 

?<<, < ?>MF><G 4>7<D>6>G ?5>4DEF65==OE ?D5-
?4D4F>6 <=>744 FD55G5FEO G<5=LL4FL. 

�$������&��,��%&, ������%&��/  

� ��-�� �$��/ �$�&��'$/ 

� 6<5D>4>GEF<G5E>>= F5D4?<< ?>4 ?D>4>?6<-
F5?L=>EFLN 6>745=EF6<O ?>=<<4NF 6D5<O 
6>745=EF6<O =4 >4=G >5?4EFL ?4F>?>7<<. �D5<O 
< D56<<O 6>745=EF6<O 5O?< GEF4=>6?5=O 
M<?<D<G5E>< 6 E>45 <=>7>?5F=<E <54<F<=E><E 
<EE?54>64=<= < =45?N45=<= =4G<=4O E 1994 
7>44. $57G?LF4FO <EE?54>64=<= <E?>?L7GNFEO 
6> 6E5E 4??4D4F4E 6<5D>4>GEF<G5E>>7> 6>745=-
EF6<O.  
$47?<G4NF <<=<<4?L=>5 < 4>EF4F>G=>5 6D5-

<O 6>745=EF6<O =4 44==GN >5?4EFL ?D< >464>= 
?D>F54GD5, 4 F4>65 >>?<G5EF6> 6>745=EF6<= 
(E54=E>6) 6 EGF><. �4 6D5<O >464>= ?D>F54GDO 
6>745=EF6<5 >>47O645FEO =4 =5E>>?L>> >5?4E-
F5=. �D5<O, 6 F5G5=<5 >>F>D>7> >EGM5EF6?O5FEO 
6>745=EF6<5 =4 6E5 ?D54GE<>FD5==O5 >5?4EF<, 
=47O645FEO 6D5<5=5< ?D>F54GDO. �D5<O ?D>-
F54GDO 746<E<F >F >>?<G5EF64 >4=>6D5<5==> 
<E?>?L7G5<OE 6<5D>D>=>6. 
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$56<< < 6D5<O 6>745=EF6<O =4 G4EF< F5?4. 

�5?4EFL 6>745=EF6<O 

<<>D>6<5D4F<5= 

$5-

6<<

�<=<<4?L=>5 

(=4G4?L=>5) 

6D5<O  

6>745=EF6<O 

�>EF4F>G=>5
6D5<O 

6>745=EF6<O

�>=5G=>EF< 1-4 5 <<=. 15-30 <<=. 

�5?4EFL <>G56>7> 
?G7ODO < ?D><56=>EF< 

2,4 5 <<=. 10-20 <<=. 

,5==O=, 7DG4=>= 
>F45?O ?>76>=>G=<>4 

1 2 <<=. 3-10 <<=. 

�>OE=<G=O=, >D5EFF>6O= 
>F45?O ?>76>=>G=<>4 

1,2 2 <<=. 5-15 <<=. 

�5?4EF< ?D>5>F<< 
?>G5> =4 E?<=G   1,2 3 <<=. 10-40 <<=. 

�D>5>F<O >5?4EF< 
?5G5=< < 65?G=>7> 
?G7ODO  =4 6<6>F 

1-4 2 <<=. 5-16 <<=. 

�D>5>F<O >5?4EF< 
?5G5=< < 65?G=>7> 
?G7ODO  =4 E?<=G 

1-4 2 <<=. 5-15 <<=. 

�5?4EF< 6<6>F4 1 2 <<=. 3-10 <<=. 

�D>5>F<O 5D>=E>6 
=4 7DG4L  1-4 2 <<=. 5-15 <<=. 

�D>5>F<O 74=<>D>6OE 
?47GE =4 ?<F> 

1,3 2 <<=. 3-10 <<=. 

�5?4EFL GE4 1,3 2 <<=. 3-10 <<=. 

�5?4EFL L5< 1 2 <<=. 3-10 <<=. 

�5?4EFL 7?47 1 2 <<=. 3-10 <<=. 
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44D5E M?5>FD>==>= ?>GFO: info@vitafon.ru 
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8 800 100 -19-45 (76>=>> ?> $>EE<< 55E??4F=O=) 

(812) 783-36-02 
(812) 747-26-48 
(812) 747-26-27 

 
www.vsegdazdorov.ru 

www.vitafon.ru 
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